
For further information contact KAON on 07 3180 1470 or info@kaon.com.au

F I T T I N G  I N S T R U C T I O N S  F O R

Rear Cargo Crates
S K U C O M P A T I B I L I T Y

KS0876/ 877 Ineos Grenadier Wagon Models

KS0876 Included contents
Q T Y C O M P O N E N T

1 Cargo Crate (LHS)

7 Self Tapping Screw

7 M5 x 16 x 1.0 DIN Washer

KS0877 Included contents
Q T Y C O M P O N E N T

1 Cargo Crate (RHS)

1 Cargo Crate Brace

10 Self Tapping Screw

10 M5 x 16 x 1.0 DIN Washer

2 M6 x 12 Button Head Socket Screw

2 M6 Flanged Nut

30 minutes / Half a beerTime

KS0876 (LHS)

KS0877 (RHS)



2

G8.8 Bolt Torque (Non-Lubricated)
D I A M E T E R  ( mm) 5mm 6mm 8mm 10mm 12mm

N E W T O N - M E T R E S  ( Nm) 6 Nm 10 Nm 15 Nm 22 Nm 35 Nm

Let’s get to work. 

Left Cargo Crate  
Installation (KS0876)
1.	 Mock-up the position of the cargo 

crate in the left hand side of the 
car’s rear boot space. Ensure that 
the crate is seated correctly and 
follows the curvature of the trim. 

2.	 With the crate’s position confirmed, 
mark the position of each bolt hole.

3.	 Remove the crate from the car,  
and using a 3mm drill bit,  
drill a hole in each marked point.

4.	 Place the crate back into position, 
and use Self Tapping Screws and 
M5 Washers to loosely secure each 
mounting point. 

5.	 Tighten each screw until secure. 
Ensure that you don’t over-tighten, 
as this can strip the hole. 

6.	 That’s it – you’re done!  
If you’re installing a cargo crate on 
the right hand side of the vehicle, 
you can continue on with the 
installation for that now. 

1

2

4



3

Right Cargo Crate  
Installation (KS0877)
7.	 Secure the Brace to the Cargo 

Crate, using the provided M6 
hardware. The brace can be secured 
to the positions circled in red,  
as pictured. If you have something 
specific you wish to store, it’s best 
to account for its size now.  
If you are unsure, we recommend 
the central mounting position to 
maximise support for the crate.

8.	 Mock-up the position of the cargo 
crate in the right hand side of the 
car’s rear boot space. Ensure that 
the crate is seated correctly and 
follows the curvature of the trim. 

9.	 With the crate’s position confirmed 
and a small amount of pressure 
applied to it, mark the position of 
each bolt hole.

10.	Remove the crate from the car,  
and using a 3mm drill bit,  
drill a hole in each marked point.

11.	Place the crate back into position, 
and use Self Tapping Screws and 
M5 Washers to loosely secure each 
mounting point. 

12.	Apply pressure to the crate and 
tighten each screw until secure. 
Ensure that you don’t over-tighten, 
as this can strip the hole. 

13.	That’s it – you’re done!  
Now you can use your additional 
storage space for those pesky 
smaller items that often get lost — 
we’ll leave the organising up to you. 

8

10

11

7



4

Disclaimer: The products sold by KAON should not be modified, and are for use only on the vehicles specifically stated. KAON will not be 
liable for any damages arising out of the use or misuse of it’s products. It is the customers responsibility to ensure the products are safely 
and properly used and installed. KAON consistently seeks to improve it’s products and reserves the right to make changes to any product. 

Local Knowledge & Assistance 
We know half the fun of building your dream 4x4 is getting your hands 
dirty. But we also know that sometimes, things don’t go to plan. If in the 
pursuit to build the ultimate setup you find yourself off-track, we’re here 
to help you get unstuck. 

For further information call 07 3180 1470 or email info@kaon.com.au


